1) —X SA1

AVENTICS™  AVENTICS SA1 < IJ—X T¥H A
- 3 \y -7 _/\' Y
»3vIT7Y EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77 2
=N 2024-03-27

1) —X SAT

AVENTICSSA1 U —X IT#Hav o777 V-, BBHEELZBRRIORESE, 7OCAEE, SERE. £ER
BOMBEHREB LY, EBZTEEBLET,

UENNRE L DN
BIXLF—RIRERE®R
BRICHIZRARZEOE L
—fBITYRARNY S

EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77 3
2024-03-27

J—=N

EXFHEEFSRE, > —X SA1-MA

EER L A b BRAIX ®RAIZx HHEE FHIHEE RFEE f 3¢5 =%l =%l
0—7 LE—K  ILF—K me&HS me&HEK h &/ h &K BV R BV IR

[mm] IREB/A  UIRE/RER [ka] Ikl IN] IN] B S/ ER-ON
~A—2 [Nm] [m/s] [m/s]
[Nm]
M12x1 12 22 35200 9 800 2.5 7 0.2 3.5 R412010322
Sk
H
— o
- Q
< f%aﬁf fffffffffffff I =
D E| F
X L K
A=EERL

V = RAKP S EER A E

R412010322 SA1-MA M12x1 4 10 75 4 25 4 12 20

R412010322 66 13 14 3

EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77 4
=N 2024-03-27

EXFHEEFSRE, > —X SA1-MA

RoHS
REACH R8I (Z %3

RAILZ HBNEE FHEE RFEE f 3¢5 =%l =%l XTUTILES
L¥—K me&mSD meHmEK h &/ h &K BV R BV IR

IR £ /B P8 kgl kgl IN] IN] E&N EBK
[Nm] [m/s] [m/s]
M14x1,5 14 30 50000 1.6 1500 13 23 0.1 6 R412010323
M20x1,5 19 100 76500 9 4500 12 23 0.1 6 R412010324
M25x1,5 25 220 105600 22 11000 15 31 0.1 6 R412010325
M27x2 25 220 105600 22 11000 15 31 0.1 6 R412028891
M25x1,5 40 390 175600 38 18000 11 20 0.1 6 R412010326
M27x2 40 390 175500 38 18000 1 20 0.1 6 R412028892
&
H
= [ I8
o ==
< | |
D SWi1 E SW2 = G '
X L K
A=BEERL

V= BAKPHEENAE

R412010323 SA1-MA M14x1,5 4 10 9.5 5 25 4 14 22
R412010324 SA1-MA M20x1,5 6 16 10 6 25 4 19 29
R412010325 SA1-MA M25x1,5 8 20 9 8 35 5 25 38
R412028891 SA1-MA M27x2 8 20 9 8 3.5 5 25 38
R412010326 SA1-MA M25x1,5 8 20 9 8 3.5 5 40 53
R412028892 SA1-MA M27x2 8 20 9 8 35 5 40 53
R412010323 78 13 13 17 5 4.5
Q

EMERSON.



AVENTICSSA1 > U—X IT¥R>avoTF77 5

V=N 2024-03-27
77)?%)% L R SwWi1 SW2 W [°] X
R412010324 88 325 18 24 2 5.7
R412010325 108 30.3 23 30 2 8.3
R412028891 108 30.3 24 30 2 8
R412010326 130 30.3 23 30 1 8
R412028892 130 30.3 24 30 1 8

EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77 6
=N 2024-03-27

EXFHEEFSRE, > —X SA1-MA

BEERU A BAIX BRAIXx FHBHEE BUEE lFta &4 NTUT7ILES
a—7 L¥E—K ¥} me &/ me &K V)R V)R
[mm] URE/A X & /85 [ka] [ka] E &h B &K
~A—2 [Nm] [m/s] [m/s]
[Nm]
M33x1,5 25 300 120000 60 2950 30 50 0.02 6 R412010327
M33x1,5 50 500 150000 100 4000 23 50 0.02 6 R412010328
M42x3 50 500 150000 100 4000 23 50 0.02 6 R412028893
M42x3 75 700 210000 80 15000 15 100 0.02 6 R412028894
M64x2 100 5000 350000 1000 62500 45 130 0.02 6 R412010329
M64x2 150 8000 400000 1250 105000 35 130 0.02 6 R412010330
&

[ ]

LI

SW1 L
—
T e
-
(]
—pedet—
P
i
i o' il ik
L1 max L2 min
ISVTTIUIDONERD
A=EERL

V= &RAKP I EERAE

EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77

V=N 2024-03-27
77)?%)%. A7 EEt L L1 max L2 min
R412010327 SA1-MA M33x1,5 65 63
R412010328 SA1-MA M33x1,5 90 88
R412010329 | SA1-MA M64x2 154 169,5
R412010330 SA1-MA M64x2 221 219,5

ZTOMOTEICODVWTR, 95207750 D0NROTR—JEZBILEE L,

X7l

FILEE B2AT EEfR L
R412010327 | SA1-MA M33x1,5 10 29 245 38 6.5 25 53 85
R412010328 | SA1-MA M33x1,5 10 29 245 38 6.5 50 78 110
R412028893 | SA1-MA M42x3 10 29 245 54 8 50 78 110
R412028894 | SA1-MA M42x3 10 29 245 54 8 75 103 140
R412010329 | SA1-MA M64x2 22 59 51 74 10 100 157 179
R412010330 | SA1-MA M64x2 22 59 51 74 10 150 207 246
77;?%)%- N SWi1 SW2 W[
R412010327 5 30 35 4
R412010328 5 30 35 3
R412028893 6 36 51 3
R412028894 6 51 54 2
R412010329 10 60 71 3
R412010330 10 60 71 2

EMERSON.




AVENTICSSA1 ZU—X T¥R>avoTF77 8
=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

EERL ARO—2 ®BKRIXIL BRARIX BHEE BMNEE REEI RN REEDRK

[mm] F—IRUNE/ L¥F—1% me &/ me &KX [N] [N]
AhO—2 UN & /5 [ka] [ka]
[Nm] [Nm]
M6x0,5 5 1 3000 0.8 2.8 2 5 R412010284
M6x0,5 5 1 3000 1.5 4 2 5 R412010285
T3k
D |
[a0]
Q
- = vV
< _ S | R | U I P R AT P ) 413
033 ! Q
£ R
X sw2 | E F
H G
L K
A=EERL

V= &RAKP I EERAE

R412010284 | SA1-MC M6x0,5 2 5 4 3 2 2 5 10
R412010285 | SA1-MC M6x0,5 2 5 4 3 2 2 5 10
=&l
PLEE L R SW1 SW2 W [°] X
R412010284 27 5 4 8 2 2
R412010285 27 5 4 8 2 2

EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77 9
=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

EERL AkO—2 BRAIXIL BRARIX BMNEE REEL KNS REEHHEK
[mm] F—IRUNE/ L¥F—1% me &KX [N] [N]
AhO—2 N 2/85 [ka]
[Nm] [Nm]
M8x1 5 1.5 4000 0.5 4 2 5 R412010286
M8x1 5 1.5 4000 0.8 6 2 5 R412010287
T3k
— D fr—

an]
Q ( \

A

SW1

i

|

|

]

|

|

|

j
A!AI
@c

<<

’ 1
/
X sw2 | E F
H | &
L K

A=BERL
V = RARKP I EER A E

R412010286 | SA1-MC M8x1 2.3 6.5 6 3 25 3 5 15
R412010287 | SA1-MC M8x1 2.3 6.5 6 3 25 3 5 15
7Y .
FLES L SWi1 SW2 W] X
R412010286 30 5.5 1 3 3
R412010287 30 5.5 1 3 3
Q

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 10
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

AkO—2 BRAIXIL BRARIX REED &N REEHIERK ITUTILES
[mm] F—IRUNE/ L¥F—1% [N] [N]
AhO—2 N 2/85
[Nm] [Nm]
M10x1 8 10 24000 1.3 53 3.6 8 R412010288
M10x1 8 10 24000 4.3 20 3.6 8 R412010289
M10x1 8 10 24000 16.5 47 3.6 8 R412010290
Tk
= 7
e gr r w
e vV
< I I N ] __________:___8 A
iy
/
H G
L K
A=EERL

V = BRARKTPH EIER S E

R412010288 | SA1-MC M10x1 3 8.4 45 3 2.5 3 8 145
R412010289 | SA1-MC M10x1 3 8.4 45 3 25 3 8 145
R412010290 | SA1-MC M10x1 3 8.4 45 3 25 3 8 145
7Y .
PAES L SWi1 SW2 W 7]
R412010288 445 3 13 2
R412010289 445 3 13 2
R412010290 445 3 13 2
QY

EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77 11
=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

EERL AhO—% BAIXIL BAILX ANEE REEHHRD REEILIBER NTUTILES
[mm] F—IRUNE/ L¥F—1% me &KX [N] [N]
AhO—2 UN & /5 [ka]
[Nm] [Nm]

M12x1 10 14 30000 0.5 1.8 3.5 7 R412010291

M12x1 10 14 30000 1.5 7.7 3.5 7 R412010292

M12x1 10 14 30000 5 57 3.5 7 R412010293
Tk

-

m
- \
o
ap Lo N oo )
o j Q
o
/ G
D sw | g F
H
L K

A=EERL

V = &AKP R EER A E

R412010201 | SA1-MC M12x1 4 10 6 4 2.5 4 10 185

R412010292 | SA1-MC M12x1 4 10 6 4 25 4 10 185

R412010203 | SA1-MC M12x1 4 10 6 4 25 4 10 185
7,7)17;?% L P T SW Wl

R412010291 52 1 0.6 14 2

R412010202 52 1 0.6 14 2

R412010293 52 1 0.6 14 2

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 12
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

BAIZI BAIX REEH B REMEH BEA
*—pRE  LF—R IN] IN]
ZARO—% IR/
[Nm] [Nm]
M6x0,5 5 1 3000 0.8 2.8 2 5 R412010294
M6x0,5 5 1 3000 1.5 4 2 5 R412010295
3%
U
D S
[an]
| S v
N ] _I
3 1 3] HH-E-+13-1E o
\R
X E F &
H
L K
A=EERL
V= BAKFEHEENAE
Eéal)) 5 L
FILES BAT EEt L 7B (%]0] D = F (€] H K
R412010294 SA1-MC M6x0,5 2 5 4 5 2 2 5 10
R412010295 SA1-MC M6x0,5 2 5 4 5 2 2 5 10
7,7)?%)% L o1 02 R S SW U W [°] X
R412010294 27 20 10 5 M3x10 4 14 2 2
R412010295 27 20 10 5 M3x10 4 14 2 2

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 13
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

BAIXRIL BAIX REED & REEHL BEKX
F—RINE/ L¥F—R [N] [N]
AkO—% UR B /85
[Nm] [Nm]
M8x1 5 1.5 4000 0.5 4 2 5 R412010296
M8x1 5 1.5 4000 0.8 6 2 5 R412010297
3%
U S
D
m
Q
| 3 v
N 0O
; & a1
X E F G
H
L K
A=EERL

V= BAKPHEENAE

R412010296 | SA1-MC M8x1 2.3 6.5 6 6 2.5 3 5 15
R412010297 | SA1-MC M8x1 2.3 6.5 6 6 25 5 5 15
7Y
PLES L o1 02 S sw U W[ X
R412010296 30 25 15 Md4x12 55 18 3 3
R412010297 30 25 15 M4x12 5.5 18 3 3
Q

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 14
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

BEER U AkO—2 BAIXRIL BALX RE#ED &) RE#ELZFRK ITUTILES
[mm] F—IRUNE/ L¥F—1% [N] [N]
AO—% U /55
[Nm] [Nm]
M10x1 8 10 24000 1.3 53 3.6 8 R412010298
M10x1 8 10 24000 4.3 20 3.6 8 R412010299
M10x1 8 10 24000 16.5 47 3.6 8 R412010300
Tk
U
S
|
1 M . | o
| | ; | Ny
| - \Y
o| L H—-P-—+-1 < Pl e = e il T I #%
[ ‘ | ! J
| ‘ | |
HEH U
S
02 D E F
H
L K
A=EERL
V= BRAKESEENAE
o) B2AT EER U @B ac D E F ] H K
TILES
R412010298 | SA1-MC M10x1 3 8.4 45 10 25 3 8 14.5
R412010299 | SA1-MC M10x1 3 8.4 45 10 25 3 8 14.5
R412010300 | SA1-MC M10x1 3 8.4 45 10 25 3 8 145
E&al)
FLEE L 01 02 S S U W]
R412010298 445 25 14 M4x20 3 16 2
R412010299 445 25 14 M4x20 3 16 2
R412010300 445 25 14 M4x20 3 16 2

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 15
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

EERL AkO—2 BRAIXIL BRARIX ANEE REEHHRD REEILIBER NTUTILES
[mm] F—IRUNE/ L¥F—1% me &KX [N] [N]
AhO—2 N 2/85 [ka]
[Nm] [Nm]
M12x1 10 14 30000 0.5 1.8 3.5 7 R412010301
M12x1 10 14 30000 1.5 7.7 3.5 7 R412010302
M12x1 10 14 30000 5 57 3.5 7 R412010303
Tk
U
L s L L n | f_‘—\ m
| Q
. ‘ ' o | )
ol -=EE{—t - < 5 —-—-— — = — - {—-—-_———I-g ANV
N\ | | |
y | . |
! ; T 4// |
D S E F G
02 H
L K
A=EERL

V = RAKP S EEREE

R412010301 | SA1-MC M12x1 4 10 6 12 25 4 10 185

R412010302 | SA1-MC M12x1 4 10 6 12 25 4 10 185

R412010303 | SA1-MC M12x1 4 10 6 12 25 4 10 185
;fg% L o1 02 P S T U W[

R412010301 52 32 16 1 M5x20 0.6 20 2

R412010302 52 32 16 1 M5x20 0.6 20 2

R412010303 52 32 16 1 M5x20 0.6 20 2

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 16
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

EER LU AO—72 BARIXIL BAIX RFHED & RFEED HFK
[mm] F—IRIRE/ LF—R [N] [N]
AkO—72 IR /RS
[Nm] [Nm]
M14x1,5 14 30 50000 3.5 17 13 23 R412010304
M14x1,5 14 30 50000 9.9 76 13 23 R412010305
M14x1,5 14 30 50000 62 252 13 23 R412010306
&
0
1 i Q

A=BEERL

V = BARKP S EIEREE

R412010304 SA1-MC M14x1,5 4 3 5 2.5 11 14 69 13
R412010305 SA1-MC M14x1,5 4 3 5 2.5 11 14 69 13
R412010306 SA1-MC M14x1,5 4 3 5 2.5 1 14 69 13
R412010304 17 4
R412010305 17 4
R412010306 17 4

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 17
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

BARIXRIL BARIXR REED K/ REBEH HEK
F—IRUNE/ IL¥F—R [N] [N]
ANO—2 IR 2 /85
[Nm] [Nm]
M20x1,5 13 65 52000 75 36 12 23 R412010307
M20x1,5 13 65 52000 20 160 12 23 R412010308
M20x1,5 13 65 52000 130 610 12 23 R412010309
M25x1,5 25 220 105600 24 120 15 31 R412010310
M25x1,5 25 220 105600 440 2050 15 31 R412010311
M25x1,5 25 220 105600 1760 10800 15 31 R412010312
I3
om
A Q
|
| AL
< D T | B | — 11— 1"
/
‘ N
D SW1 | | E sw2 ||F
L K
A=EBEERL

V = BRARKTP A EIER S E

EEfR L
R412010307 SA1-MC M20x1,5 6 10.5 6 25 13 75 18 24
R412010308 SA1-MC M20x1,5 6 10.5 6 25 13 75 18 24
R412010309 SA1-MC M20x1,5 6 10.5 6 25 13 75 18 24
R412010310 SA1-MC M25x1,5 8 9.5 8 3.5 25 108 23 30
\

EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77

J—=N

18
2024-03-27

R412010311

SA1-MC

M25x1,5

9.5

3.5

25

108

23

30

R412010312

SA1-MC

M25x1,5

9.5

3.5

25

108

23

30

X7l
TILES

R412010307

W[l

R412010308

R412010309

R412010310

R412010311

R412010312

NI N|IN| D> D>

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 19
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

EERL AhO—% BAIXIL BAILX AMEE REEH RN REHEH HEKX
[mm] F—IRUNE/ L¥F—1% me &KX [N] [N]
AhO—2 UN & /5 [ka]
[Nm] [Nm]
M14x1,5 14 30 50000 3.5 17 13 23 R412010313
M14x1,5 14 30 50000 9.9 76 13 23 R412010314
M14x1,5 14 30 50000 62 252 13 23 R412010315
Tk
U
1 m R
i Q
e I | Y (N S —T—1 o \
8 < uga ﬂﬂl j[ 2R A
i
I
\

s/ o1 | E F G

A=EERL
V= BAKPHEEHNAE

R412010313 | SA1-MC M14x1,5 4 10 3 12 25 35 14 11

R412010314 | SA1-MC M14x1,5 4 10 3 12 25 35 14 1

R412010315 | SA1-MC M14x1,5 4 10 3 12 25 35 14 11
;jg% K L o1 02 R S SWi1 U W[

R412010313 22 69 32 20 13 M5x25 13 20 4

R412010314 22 69 32 20 13 M5x25 13 20 4

R412010315 22 69 32 20 13 M2x25 13 20 4

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 20
V=N 2024-03-27

EXFHEEFSRE, > —X SA1-MC

BrEal  ARO—Y ®BAIXL  BAIX REBWH BN REBH BA
[mm] FoRRE  LF—R IN] IN]
ZRNO—4  IRE/ESR
(Nm] [Nm]

M20x1,5 13 65 52000 75 36 12 23 R412010316

M20x1,5 13 65 52000 20 160 12 23 R412010317

M20x1,5 13 65 52000 130 610 12 23 R412010318

M25x1,5 25 220 105600 24 120 15 31 R412010319

M25x1,5 25 220 105600 440 2050 15 31 R412010320

M25x1,5 25 220 105600 1760 10800 15 31 R412010321
3%

U
| [an] /—R
| | = - i
8 € {—-F e e ~f—f~*71'—~g A
| 71 | |
/ |
SWA |
/ 01 D E F G
s
H
L K

A=BEERU

V = &RAKPHEEERAE

R412010316 SA1-MC M20x1,5 6 12 10.5 20 25 4 13 23

R412010317 SA1-MC M20x1,5 6 12 10.5 20 25 4 13 23

R412010318 SA1-MC M20x1,5 6 12 10.5 20 25 4 13 23

R412010319 SA1-MC M20x1,5 8 16 9.5 25 3.5 5 25 38

R412010320 SA1-MC M25x1,5 8 16 9.5 25 3.5 5 25 38

R412010321 SA1-MC M25x1,5 8 16 9.5 25 3.5 5 25 38
\

EMERSON.



AVENTICSSA1 > U—X IT¥R>avoTF77 21
V=N 2024-03-27
7,7)17’_%)%. L o1 02 R S SW1 U W [°]

R412010316 75 40 25 18.5 M6x30 18 28 4

R412010317 75 40 25 18.5 M6x30 18 28 4

R412010318 75 40 25 18.5 M6x30 18 28 4

R412010319 108 47 32 20 M6x40 23 34 2

R412010320 108 47 32 20 M6x40 23 34 2

R412010321 108 47 32 20 M6x40 23 34 2

EMERSON.



AVENTICSSA1 > U—X IT¥R>avoTF77 22
V=N 2024-03-27
F vk
ALY RHALX ME XTVUTILES

M6x0,5 AF—=I), VO0LXY F R412010359

M8x1 AF=), V0LXY F R412010360

M10x1 AF=I), VO0LXY* R412010361

M12x1 AF—=I), VO0LXY F R412010362

M14x1,5 AF—=I), V0LXY F R412010363

M20x1,5 AF=I), VO0LXY* R412010364

M25x1,5 AF—=I), VO0LXY F R412010365
KK Sigs YU s sw
M6x0,5 R412010359 SA1-MC 3 8
M8x1 R412010360 SA1-MC 3 1
M10x1 R412010361 SA1-MC 3 13
M12x1 R412010362 SA1-MC 4 14
M14x1,5 R412010363 SA1-MC 5 17
M20x1,5 R412010364 SA1-MC 6 24
M25x1,5 R412010365 SA1-MC 8 30

EMERSON.



AVENTICS SA1 2 U—X T¥RA>3voT77 23

V=N 2024-03-27
FvY K
ALY RHALX ME ITVTILES
M33x1,5 AF—=I), 20LXY* R412010331
M64x2 AF=I), 20LXY* R412010332
KK
| S
H-—-— B
\ m = & =
DI Q'b . S N
S&al, P :
KK FILES 21)—XH Da Di B S
M33x1,5 R412010331 SA1-MA 38 35 5 6.5
M64x2 R412010332 SA1-MA 74 71 10 10

EMERSON.



AVENTICS SA1 2 U—X T¥RA>3voT77 24

V=N 2024-03-27
7S BT
e IFUTILES
AF=I), 70LXYF R412010333
AF=I), 20LXYF R412010334

1) 1)
/

Y
A
A
<C
L ||
Y
oB D
oC
HEEAUY ~
E&al)
TILEE S . © 2 &
R412010333 6.6 32 45 12 M33x1,5
R412010334 1 58 80 16 M64x2

EMERSON.



AVENTICS SA1 2 U—X T¥RA>3voT77 25

V=N 2024-03-27
DSUOTTSIUT

NTUTPILES

R412010341
R412010342
&
SW
| |
oy L bl Lo
v ! i v
| T | N T ‘ [l [ ’ L] R | i
S T
T R B N A |
I i i :I ! |: H i I Iy i "
T \ \ T
| i I
| \ 3] |
1 | 1
| |
i ;
C G F
B
E
7,7)17,_-%)% A B C D E [F (€] SW
R412010341 5 5 M3x10 14 20 10 M6x0,5 2,5
R412010342 6 6 M4x12 18 25 15 M8x1 3

EMERSON.



AVENTICS SA1 2 U—X T¥RA>3voT77 26
=N 2024-03-27
DS0TITSUT

NTUTPILES

R412010343
R412010344
R412010345
R412010346
R412010347
3%
SW
P S _ | )
| | L . by _Ik 2
] ! . | |
[T T 1 7 12 ]
I‘--i_r ! | I " \::_1-\_:\ "-_i
Iy
| I N A I |
) i | [l I| l ll \|‘ [ e ) i |
T f T T
[ | l
| | m |
1 | 1
| |
: :

B . G F

|
E

Eéal))

FILES A B © D = F (€] H SW
R412010343 14 6 M4x20 16 25 10 M10x1 2 3
R412010344 16 8 M5x20 20 32 12 M12x1 2 4
R412010345 20 10 M5x25 20 32 12 M14x1,5 2 4
R412010346 25 1 M6x30 28 40 20 M20x1,5 2 5
R412010347 32 14 M6x40 34 47 25 M25x1,5 2 5

4

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 27
V=N 2024-03-27

D9S0TT0T

NTUTPILES

R412010348
R412010349
E F
D
| |
IRl T
)
-
| 1 I
< O] iaetel Tl
l | :
| | I
1
@ L
S
7Y
S A B c D E F G H
R412010348 | M33x1,5 8 M6x40 42 56 20 40 2
R412010349 |  M64x2 12 M10x80 78 100 25 80 2

EMERSON.



AVENTICSSA1 2 U—X IT¥R>avoTF7 28
V=N 2024-03-27

FIEAY R

SA1-MC

NTUTPILES
5 R412010356
5 R412010357
5 R412010358

e EE—
&
— .

;fg%. oA B c D 1) R
R412010356 10 35 8 4 13
R412010357 12 4 10 6 185
R412010358 16 5 13 8 20
1820508008 12 5 10
1820508009 17 4 9
1820508010 23 6 12

1)AY RER

EMERSON.



AVENTICS SA1 > U—X T¥R>3avoTF7
V=N

29
2024-03-27

ANYN=VYTY K

SA1-MC

XTUTINES
2 R412010335
2 R412010336
2 R412010337
2 R412010338
2 R412010339
2 R412010340
A
o
<C
(] N
i
SW
D
G
7,?)17’_—%)% A B © D SW
R412010335 M8x1 11 12 - -
R412010336 M10x1 14 15 - -
R412010337 M12x1 16 20 - -
R412010338 M14x1,5 18 20 6 15
R412010339 M20x1,5 25 35 8 22
R412010340 M25x1,5 30 38 10 30
1820360039 M8x1 10 6 12 -
1820360040 M10x1 12,5 10 20 -

EMERSON.



AVENTICSSA1 ZU—X T¥R>avoTF77

30
Jy—N 2024-03-27
77)?%)% A B C D SW
1820360041 M12x1 15 10 20 -
1820360042 M14x1,5 17 8 20 15
1820360043 M20x1,5 24,8 13 25 22
1820360044 M25x1,5 30 16 32 27

EMERSON.



AVENTICS SA1 2 U—X T¥RA>3voT77 31
J—N 2024-03-27

RIL SRR

SA1-MC

12 1 R412010350
14 1 R412010351
15 1 R412010352
18 1 R412010353
24 1 R412010354
30 1 R412010355

SWwr Swz

/ ]
7 ] (=4 Y
£ F =)
. H __GL

R412010350 M8x1 12 4 M8x1 6 10 5 13 10 1"

R412010351 M10x1 14 6 M10x1 7 12 8 15 13 13

R412010352 M12x1 15 7 M12x1 7 18 10 21 14 14

R412010353 M14x1,5 18 8 M14x1,5 8 20 14 24 16 17

R412010354 M20x1,5 24 12 M20x1,5 9 20 13 25 22 24

R412010355 M25x1,5 30 16 M25x1,5 13 38 25 41 27 30
\

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




